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AT fA&2n:General Instructions:

The Question paper will be divided into A, B, C, D and E
(i) Part A will carry 9 objective type questions of 1 mark each. Attempt any 7.
(ii) Part B will carry 2 very short answer questions of 1 mark each. Answer should not exceed 40 words
each. All questions are compulsory.
(iii) Part C will carry 2 short answer questions of 2 marks each. Answer should not exceed 100 words each.
All questions are compulsory.
(iv) Part D will carry 4 short answer questions of 3 marks each. Answer should not exceed 150 words each.
All questions are compulsory.
(v) Part E will carry 2 long answer questions of 5 marks each. Answer should not exceed 350 words each.
All questions are compulsory

Part A

9o 1. AT f@d sgfasedia A & O 15 8 7 99 AITST 1x7=7

Attempt any 7 of the following multiple choice questions.

(i) =TT & 1441 eraTed 1 3TagraaR ShieT AT?
(31 g&T (&) 3T (@) AT TS () Sotae

In the following who was a 14th century chronicler?

(a) Khusro (b) Rajiya (c) Minhaj e Siraj (d) Balban
(i) TrE TS & T Tgof 9T TTUTAT Teoall H TATTU FI?

(37) 3FeFeT aTeT EIECIEN (@) RIS (&) $oTH A IS ALl
Which ruler first established his capital at Delhi?

(a) Anang Pal (b) lltutmish (c) Prithviraj (d) None of these

(i) forgeh ATETHTT H Godeld mﬁmagﬁméﬁl
(37) SeIATA () 3R () TATH () FGFHC %Frddmeh
In whose reign did the sultanate reach its farthest extent.

(a) Htutmish (b) Akbar (c) Balban (d) Mohammad bin Tuglaque
(.v)qza%a‘?rmaﬂafrw% ] ]

(37) T4 (q) FHea (|) PR (&) S=T3 A IS AET
The innermost layer of the earth is..

(a) Crust (b) Mantle (c) Core (d) None of these
(v) fFfaf@a & Sl gar s ywR 6T 82 . '

(37) Atge (&) T () T (&) ST A PYS Y
In the following which is not a type of wind?

(a) Seasonal (b) Local (c) Permanent (d) None of these
(vi) ST TG&TIUT JedT UX 5 &9 7 SaRAT S, AT 36 Focl & , .

(31) STeret (@) s (@) ah (&) 373 | I =TeT
When precipitation comes down to the earth in the liquid form, it is called

(a) Cloud (b) Rain (c) snow (d) None of the above
(vii) m%ﬁwaﬁﬂﬁ?

(31) 3N AT () Fiar () Frrer v@ () ATGFHG ITERT
Who is the author of Jhoothan?

(a) Omprakash Valmiki (b) Kanta (c) Girish Rao (d) Mohammad Ansari
(viii) TIFA T TR 7 leT AT FR T3S T Tellll T AT AT?

(37) Fe fAg=or =Nt (&) FAI 13 ST HiAYTe

(H)mﬁarasmzrw (&) Tk I3 T T @ST T
In the foIIowmg which was not an act of Allauddin Khalizi?

(a) Price control policy (b) Constitution of Siri town

(c) War with Mongol (d) Raised a large standing army



(ix) ShIEET RehT & 3THR 2T o faehre & oI STEr g2

(1) fove (&) TaTELT (H) TSR (&) Qe
According to Costa Rica, it is necessary for the development of the country?

(a) Education (b) Health (c) Employment (d) Army

T 2. YA HRUT DI CATA T T¢ IR Teh Tl [dhed Hl TTeT Y| 1x2

(37) T TET ¢ ol fchel HIROT ITeT &
() YA IS & Afhed HFROTHE &
(@) a1 TEY & 3R FROT 31T AR UT Y TEY SIr=AT FIaAT B
() YT TET & SIfheT HRUT U T HEY TTSEHIOT AL B |
Read carefully the assertion reason and select a correct option
(a) Assertion is correct but reason is wrong
(b) Assertion is wrong but reason is correct
(c) Both are correct and reason is correct explanation of assertion.
(d) Both are correct but reason is not correct explanation of assertion.
(i) HUeT: 8T T AT Siidet R TR 1 7 THAT GIT &
hIRUT: 3ehT chl HTISTATOT FET ehr ST Gehcll |
Assertion: Earthquake makes a huge loss of human life and property
Reason: Earthquake can't be predicted.
(ii) ShYUeT: 3ThaT Uch Hglel ATHD AT|
PROT: TE Yelg-T-Fel hl AT TR TG [Iear 3R 376318 X 7|
Assertion: Akbar was a great ruler.
Reason: He strongly believed and practices the policy of Sulah-e-kul.
g2eT 3. YA I UfeU AR ATT FIAT o I8 T § I1 37T | 1x3
Read the statement and find that it is true or false.
(1) Teoel Hedeld & dgd e Temafas s Y|
(a) Hindi was the administrative language under Delhi sultanate.
(&) TorET cTfeFa AT HU=AT SaRT 3791 oITH & Torw 3T forst srfafafer ar dar|
(b) Private activity or service, organized by an individual or company for their own gain..

() TTTHT TR FATTAHR T oliehd T hY 3TaTH AT & |

(c) Universal adult franchise is an essential condition of true democracy.

Part B
T2 4. GAGTAT FAT &2 What is archive? 1
9T 5. a@ﬁﬁﬁmﬁaﬁ' | Define majority. 1
Part C

9T 6. Hiekerdl & & fAf@T | Write the function of Mugtis 2

q%ﬂ?.émﬁmﬁﬁaﬂr&m%? 2

How did some MLA become minister? Explain.
Part D

UeeT 8. STlHSdl Ud Sid#sel ol GRS &Y | Define biosphere and hydrosphere. 3

) ) 3AYdar Or
sfesifaa 3R e fRasaFarg?

What are exogenic and endogenic forces?
9ReT 9. AT AT & ? HIGHT arg bl aReT Y | 3

What is wind? Define seasonal wind.
UesT 10. STel Tsh bl W WITAT|  Draw the water cycle. 3

et 11 o=t few are iy )R i arerar @ |




Write three sentences on the given picture. 3

Part E

9ReT 12. Tl AT A 53T fafdiest arfafaferar o=r o 5

What were the activities associated with Chola temples? 5
374t Or

STHIETR ehleT AP FITeT FRITHT H SeTehl ${{ART T T H FUTeT HIfST|

Who were zamindars? Brief his role in Mughal administration.
9ReT 13, "TRIE STSTehAT Tehel BIS &l & F1Teh 306 TIET UTC it & g [GeTaed i & 1" HUT TSl &
T 78T, 3791 3T & 9&T & dh ST | 5

"Poor girls drop out of school because they are not interested in getting education."
Statement is correct or not, gives argument in favor of your answer.



